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Part —III
BUSINESS STUDIES

Maximum : 80 Scores

(e

eneral Instructions to Candidates :

=

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answeririg.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 7. Each carries 1 score. (Tx1=7)

1. Identify the management principle which states that a manager should replace I with
We” in all his conversations with workers to foster team spirit.

(a) Espirit De Corps
(b) Initiative

(¢) Unity of Command
(d) Unity of Direction

2. Identify the type of plan which specifies the steps to be carried out in different business
activities in a sequential order.

(a) Programme
(b) Procedure
(¢) Method

(d) Strategy

3. Which among the following is not an organizational objectives of management ?
(a) Profit
(b) Survival
(¢) Protecting Environment

(d) Growth

4,  Grapevine relates to
(a) Formal communication
(b) Informal communication
(¢) Formal organisation

(d) Informal organisation

5. Name the controlling technique which states that only the significant deviations which

fels
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6. A company offers 40% of extra shaving cream in a pack of 100 grams. Identify the
sales promotion tool used here.

7. A company gets applications without declaring any vacancies. However. as and when

vacancy arises, the company makes use of such applications.

Name the source of recruitment mentioned here.

Answer Questions 8 and 9 after observing given hint. Each carries 1 score.

2x1=2)
8.  Hint :- Delegation :- Transfer of Authority from superior to subordinate.
Decentralisation :-
9. Hint:- Long term investment decision :- Capital budgeting decision.
Short term investment decision :-
Answer all questions from 10 to 13. Each carries 2 scores. @x2=8)

10. Briefly explain the meaning of financial planning.

11. Classify the followiﬁg items into appropriate elements business environment :
(a) Literacy rate
(b) Public debt (Internal and External)
(¢) Rate of savings and investment

(d) Birth and death rat}:
12. State any two characteristics of a good brand name.

13. State the conditions under which a consumer can approach the State Commission for
getting relief for his grievances.
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14.

17.

18.

19.

20.

21.

20

23.

24.

Answer any 4 questions from 14 to 18. Each carries 3 scores. 4x3=12)

State any three significance of Principles of Management.

Briefly explain the different types of leadership styles.

Compare Treasury Bill and commercial paper, both are used in Indian money market.

State any three responsibilities of consumers.

Explain any three impact of government policy changes on buéiness and industry.

Answer any 5 questions from 19 to 24. Each carries 4 scores. (5 x4=20)
Explain the following types of training :

(@) Vestibule training

(b) Apprenticeship training

This management function ensures that “all activities are performed as per
predetermined plans”.

(a) Identify the management function. »

(b) Explain its first three steps.
Briefly explain any two characteristics of entrepreneurship.

Under this technique of scientific management, one worker is supervised by eight
specialist foreman.

(a) Identify the technique.
(b) Show this technique in a diagram.

State any four regulatory functions of SEBIL.

State any four differences between marketing and selling.
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Answer any 3 questions from 25 to 28. Each carries S scores. @3 x5=19)

75, Mr. Jojo is working as a production manager of a Joint Stock Company.

(a). Identify the level of management he belongs 10.

(b) State any four functions performed by him.

s to bridge the gap between where we are and where we

26. This management function seek

want to g0.

(@) Identify the management function.

(b) Explain any four importance of that function.
27. This management function begins with work force planning and putting people to job.
(a) Name the mahagement function.
(b) Expléin its first four steps/process.

78, Star Ltd. produces three types of products such as cosmetics, garments and medicines.

(a) Suggesta suitable organizational structure for Star Ltd.
(b) Represent this structure in a diagram.

(c) State any two advantages of it.
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(2 x 8=16)

1. Each carries 8 scores.

Answer any 2 questions from 29 to 3
profits to be retained in the

29. One of the financial decision relates to the amount of

business.
(a) Identify the financial decision.

(b) Explain any seven factors affecting this decision.

than market price.

30. SunLtd. offers shares to its employees at a price which is lower

(@) I1dentify the type incentive offered to the employees.

(b) Name the incentive.

(c) Explain any four similar types of incentives.

31, It is an impersonal form of communication which is paid for by the marketers

(sponsors) 10 promote some goods and services.

(a) Name the promotional 100l mentioned above.

(b) Explain its four merits and three limitations.
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